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T used tallies. The first item is a sock that\‘
has stripes. I put this in the row that says
socks and the column that says stripes.
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Two-way tables

Discover

/
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Spots Stripes Spots Stripes
socks | Il | Il Socks | 8 4
Hats 1 MMt Hats 3 5

A two-way table shows two or
more different sets of information.

b) »
a a) Amal wants to sort out the socks from the hats and the spots from Spots Stripes | Total
the stripes. Complete the two-way table to help him. Socks 8 4 12
Hats 3 5 8
Spots Stripes
Total Il q 20
Socks
Hats

First, I worked out
the total for each of
the rows and each

of the columns.

There are 12 socks and 8 hats.

12-8=4

b) How many more socks than hats are there?

How did you find out your answer? There are 4 more socks than hats.
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Think together

The two-way table shows information about 50 people who went to the
cinema last weekend.

Saturday Sunday Total

Children | 5 21 26

Adults | 17 7 .
Total 22 . 50

a) Fillin the missing totals then answer the following questions.

b) How many children went to the cinema on Saturday?

. children went to the cinema on Saturday.

c) In total, how many people went to the cinema on Sunday?

In total, . people went to the cinema on Sunday.

d) On Sunday, how many more children than adults went to the cinema?

. more children than adults went to the cinema on Sunday.

e) On which day did the greatest number of people go to the cinema?
The greatest number of people went to the cinema

on
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° Two classes each have a fruit bowl.

The two-way table shows the

Apples | Pears | Total

fruit in each bowl.

Work with a partner to:

Class 5A

. 18 30

a) Complete the two-way table.

b) Write down five pieces of

Class 5B

14

24

information the table
shows you.

Total

26 28

ice creams sold.

a) Complete the two-way table.

Use words such as total, difference, more and less. ’

e The two-way table shows information on the number of

b) What fraction of the ice creams sold were large cones?

Flavour

Cone size
Small | Medium | Large Total
Strawberry | 2 12 42
Chocolate . | 2 1]
Vanilla g 49 ! !

Total

I know the total number of ice creams
sold and how many large cones were sold.
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